	Mesmerising Extension 

Simon put £80 in the bank. The money earns 5% interest in the first year and another 5% interest on the total in the second year. How much money is in Simon’s bank account by the end of the second year?
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	Mesmerising Extension
Fiona has to buy a new carpet for her living room. The carpet costs £17 per square metre. If the room is 3m wide and 4.5m long, how much does the carpet cost?
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	Mesmerising-Extension

A tin of paint holds 2.5 litres of paint. One tin contains enough paint to cover 12 square metres per litre. The paint costs £16 per tin. How much would it cost me to paint the living room which has a surface area of 12 square metres?
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	Mesmerising- Extension

Three friends need to spend £42 between them on petrol to travel from London to Carlisle. If a fourth friend joins them, how much will each person save?
[image: image4.jpg]





	Mesmerising-Extension

The children in Year 6 are going on a school trip. The coach costs £256 which is shared between 48 children. They also need to pay £6.00 each for entry to the museum. How much will it cost each child rounded up to the nearest 10p?
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	Mesmerising- Extension
There has been a 10% rise in Stephen’s electricity bill. His bill is now £132. What was it before the rise?
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Mesmerising  Extension

A washing machine cycle takes 75 minutes and then the clothes need 80 minutes in the tumble dryer. The two machines can run at the same time but clothes can’t be put in the dryer until they have been washed. How long would it take to wash and dry 2 loads? Is 4 loads just twice that? 



	Mesmerising- 

Extension

Mandy takes home a salary of £1,200 per month. She spends £400 on rent, £80 on electricity, £125 on food, £35 on the telephone bill and £25 on water. What percentage of her salary does she have left over?
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	Mesmerising-Extension 
Jane needs new shelves in her bathroom. One shelf is 2.65m long, another 2.3m and the third, 1.45m. A length of wood 3.8m long costs £7.35. The shelves need two brackets costing £2.69 each. How much will it cost Maria to put up her shelves?
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